
PARTS INCLUDED

INSTALLATION 

M4x16 (x4) M6x16 (x4) M4x16 (x2) M4 (x2)

M5x16 (x2) M5 (x2)

M6x16 (x2) M6 (x2)

M8x16 (x4)M5x16 (x4)

18x6.5x1.5 (x4) 17x8.4x1.2 (x4)

18x6.5x1.5 (x2)

1
C

Option

C
C

ba dc

2 3
A-B

Option

A-B

4

Universal Soundbar Brackets

Max.load: 15kg

CW-2881
User Manual

Distributed by:
TechBrands by Electus Distribution Pty.Ltd.
NSW 2116 Australia
Ph: 1300 738 555
Int’l: +61 2 8832 3200
Fax: 1300 738 500
www.techbrands.com


